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Lecture One — (s 5 yalall

1-......... is the study of how a listener recognizes words and utterances.
A. Linguistics
B. Psychology
C. Sociolinguistics
D. Psycholinguistics
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2- is the study of how a listener recognize words and utterances, or how damage to

our brains results in certain kind of language disorders.
A. Psycholinguistics

B. Sociolinguistics
C. Artificial science
D. Grammar
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3- Applied linguistics is a branch of linguistics where we study how.......................
A. A listener recognizes words and utterances
B. To learn and to teach different languages

C. To study different varieties of a certain languages
D. To make computers more sophisticated
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................ is the study of how to make computers more sophisticated.
A. Artificial Building

B. Artintelligence

C. Artificial intelligence

D. Human intelligence
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5- Artificial intelligence is the study of how to make computers .............

6-

A. More suffocated
More sophisticated

B.
C. More expensive
D. More seriated
............... il 3 el Jan LA Al jo 4 elidacal) (ISH) o
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Language is a systematic way of combining smaller units into larger units for the purpose
A. Commutating
B. Computation
C. Competition
D. Communication
.................. Caagd 5S) Clan g b sl il g el Ayngia A8yl o Aall) o
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7- The purpose of the referential use language is to.......

A.

B.
C.
D.

A.
B.
C.
D.

Transmit inaccurate or ambiguous information
Receive instructions or non-academic information
Transmit inaccurate or non- ambiguous information

Transmit secretive or classified information
S e Glaglaa ) Slaglad k3

Language is usually used in poetry not in science.

Referential
Affective
Aesthetic
Phatic
Al padg 28l Saadidlesdle L
Az yall
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............ Use of language is usually used in poetry not in science.
Referential
Affective
Phatic
None of the Above
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10- The affective function of language expresses the speakers’ or writers'...........
A. Feelings and attitudes

B. Importance
C. Intelligence
D. Falling and failure
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11- Referential use of language can be found in examples that ........ccccovvverveeeecennnns
A. Give information or instructions that the hearer wants the speaker to do
Give wrong information or instructions that the speaker does not want the hearer to do

B.
C. Give information or instructions that the speaker wants the hearer to do
D. keep communication lines open and are used in science, not in poetry
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Lecture Two — 484l 5_yalall

1- ... is the ability of its holders to force obedience of other people to their will.
A. Parole
B. Language
C. Power
D. Signifier
b Aethll de o AN el Je lpalas 8 o o
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2- The term Power is refers to the ability of its holders ......
A. To force disobedience of other people to their will
B. To force providence of other people to their will
C. To force obedience of other people to their will

D. To force ordinance of other animals to their will
................... e labia sy Il ALl mllhias july o
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3- Power is refers to the ability of its holders to force ....... of other people to their will.
A. Strike

B. Language
C. Parole
D. Obedience
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@l =Y
aalll _o
Gl s e -

e 3 et ) ) g (G —




4- Saussure divided language into two parts: langue and ...........
A. Paradox

B. Pardon
C. Parole

D. Grammar
............. }w\ u_al.»ﬁS\ Mé\w\ ).'-""“)"‘“("“‘5 oo
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5- Ferdinand de Saussure divided language into two parts: .......... And parole.
A. Landaus
B. Pragmatics
C. Langue
D. Lingering
Aadll A jlaay o, sopend VAR i g (g0 2l 8 and o
gl e
dalll LSt o
Al &

6- Saussure divided language into ...............
A. Two parts: langue and parole

B. Three parts: langue , morphology and grammar
C. Two parts: luggage and parrots
D. Two parts: syntax and phonetics
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T e, is ‘our (innate) knowledge of the systematic correspondences between sound
and meaning which make up our language'.

A. Langue
B. Teaching
C. Learning
D. Parole
Ll Uy ) il gl Fmgiall 53U yall Ay il Ui jma 8 R
Al st
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8- The term ........ refers to our (innate) knowledge of the systematic correspondences
between sound and meaning which make up our language.
A. Lasagna
B. Language
C. Lungs
D. Langue
Ll s (il gl Amriall S yall Ay il U joe e iy
Ly
alll o
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S S Is the actual use of language in both speech and writing.
A. Power
B. Langue
C. Parole
D. Bail
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10- e, is the actual use of language in both speech and writing.

A. Competence
B. Comparison
C. Langue
D. None of the above
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11- Choose the correct sentences:
A. The term ‘signifier’ refers to the meaning or concept associated with the signified
B. The term ‘signified’ refers to the meaning or concept associated with the signified
C. The term ‘langue’ refers to the meaning or concept associated with the parole
D. The term ‘hedges’ refers to the meaning or concept associated with the signified
dassaall ddaall i3] o
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12- According Saussure the link between the signified and the signifieris ..................
A. Arbiter

B. Artery
C. Arbitrary
D. Artistry
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13- Signs do not exist in isolation, but in systems of ............ relationship.
A. Social
B. Society
C. Assertive
D. Associative
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Lecture Three — Al 3_palsll

1- According to the Sapir-Whorf hypothesis, there is a
language.

.......... link between culture and

A. Captive
B. Active

C. Causative
D.

Loose
Al g BN ABe ellia Chygg - pulu dun jal d g o
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2- The Sapir-Whorf hypothesis claims that there is a causative link between
A. All languages

Fissure and nature

B.
C. Culture and language
D. Language and physics
.................. O A ABe Gl (5l oy g5 -l dpia 8 e o

Gl 8
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3- According to the Sapir-Whorf hypothesis, there is a
A. Causal link between agriculture and language

Causative sink between hose and router

B.
C. Causative link between culture and language
D. No causative lings before lecture and luggage
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4- The Sapir-Whorf hypothesis, claims that ........
A. There is a fizzy milk between nature and lasagna
B. There is a causative link between culture and language

C. Thereis no link between culture or language
D. There is a causative link between culture or language
.......................... O S -l Ay ki o5 o
Lt 31 5 dmplall (s (3 side ol llin |
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5- Choose the correct sentences:

A. Languages of similar cultures involve similar systems of representation which are
necessarily equivalent

B. Languages of different structures involve similar systems of grammar which are
necessarily equivalent

C. Luggage of different passengers involve parallel systems of representation which are
necessarily equivalent

D. Languages of different cultures involve distinct systems of representation which are

not necessarily equivalent
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6- According to the theory of “.......” Language and its structures limit and determine human
knowledge or thought.

A. Dominance

B. Convergence

C. Implicature

D. Linguistic determinism
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7 e is concerned with power: the power to make decisions, to control resources, to
control other people’s behavior and values.
A. Politics

B. Politeness

C. Polysemy
D. Polylines
ety Gn AY) Al 55 il 8 aSall ) 3l SasY Adalulld Adaludly dlleta e, DS
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8- Choose the correct sentence:
A. Politics is concerned with tower to make detention, to control other people’s money
and education
B. Politics is concerned with power to make decisions, to control resources, to control

other people’s behavior and values

C. Politics is not concerned with power to make decisions, nor with resources, but with
the control other pupils’ classroom values
D. Politics is confirmed in the hour : the hour at which you make decisions, to console
other people’s behavior and values
dagaaall dleall al o
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9- Physical coercion is associated with ..........

A. Legal laws
. Dictatorial regimes

B
C. Persuasion and consent
A. Democratic regime
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10- Choose the correct sentence:
A. Physical coercion is disassociated with editorial staff
. Physical correction is associated with Dictation dictionaries

B
C. Physical coercion is associated with dictatorial regimes
D. Physiological condition is associated with Democratic regimes
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11- ........... is any set of beliefs which, to people who hold them, appear to be logical and
natural
A. Geology
B. Doxology
C. Eulogy
D. Ideology
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12- Choose the correct sentence:
A. Etymology is any set of beliefs which, to some people, disappears and unnatural
B. Ideology is any set of beliefs which, to people who hold them, appear to be logical

and natural
C. Pedagogy is any set of bluffs which, to people who hold them, appear to be logical
and natural
D. Ideology is any set of beliefs which, to animals , appears to be illogical and unnatural
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13-........... is the background assumption embedded within a sentence or a phrase.
A. Imply

B. Definition

C. Presupposition

D

. Implicature
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14- ideology is any set of beliefs which, to people who hold them appear to be .......

A. logical and natural
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Lecture Four — 4x )l 3 _jalall

1-.......... is the art of using language so as to persuade or to influence others.
A. Retroflex
B. Orthotic
C. Rhetoric
D. Restock
pede Al gl AV S Jal (e Lalll 235 5 Jlga A o
sy -
sl g5

2- Rhetoric is the art of ...........
A. Using language so as to provide food influence others
. Using language so as to precede or to fluctuate others

B
C. Using language so as to persuade or to influence others
D. Using language so as to persuade and influence girls
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3- The term Rhetoric refers to the art of using language so as ...........
A. To persuade or to infected others
B. To peruse or to influence others
C. To peruse or to influx others
D. To persuade or to influence others
............... Jal e dall ool 5 e I A6 llaan s
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Qoo Asserts that something is similar to something else.
A. The metaphor
B. The rule of three
C. The similar
D. parallelism

A Sy S G S

5- Which sentence involves a simile?
A. This room is an Oven
B. Her hair was golden silk
C. The room was like an oven

D. The sun was a diamond in the sky

3‘)\.::\“‘}“
A2 A8
Lﬁj\}m

N

-

/7
0’0

S Lgr AV Jaad) (e sl
oAl eda
2 nal p i s o
oA i€ A8 =l L
slandl 8 dule uedll cailS -
6- Euphemism uses ....... to make something seem more positive than it actually appears.
A. Bold and abusive language
B. Difficult language
C. Offensive language
D. Mild or inoffensive language
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8- Euphemism uses ......ccccceeeeueeneee Than it actually appears.
A. Titled or offensive language to make something seem more negative
Mild or inoffensive language to make something seem more positive

B.
C. Mild or inoffensive language to make something seem more negative
D. Mild or inoffensive luggage to make people seem to forgive
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9- Euphemism in which we use mild or inoffensive language to ...........
A. Make something seem more negative than it actually appears
Make everything seem less positive than it actually appears

B.
C. Make something seem more positive than it actually appears
D. Make something seem less positive than it actually appears
Lisa pie o) Ui 45l Led ardis Al oo (Lol alal ) UK o
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10- The term ....... Is used to hide the fact of forcing civilians to move out of their homes
because they belong to specific ethnic group.

A. Flaming debate

B. Passing away

C. Non-ethnic cleaning

D. Ethnic cleansing
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11- ......... is a rhetorical device which expresses several ideas in a series of similar
structures.

A. The rule of three

B. Euphemism

C. Parallelism

D. Paralysis
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12- The term MEDIA can refer to.............
A. The press
B. Television
C. World Wide Web
D. All the above
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13- The Media can represent a powerful source in society because it ..........
A. Can select what counts as news
B. Can decide who gets on the television, radio or newspaper
C. Has become an integral part of most people's lives
D. All the above
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14- The Media can represent a powerful source in society because it ..........
A. Cannot select what counts as news
Cannot decide who gets on the television, radio or newspaper

B.
C. Has become an integral part of most people's lives
D. Helps us fail
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15- The Media can represent a powerful source in society because it ..........

A. Can select what counts as fuse , can despise whoever gets on the television, radio or
newspaper and has become a trivial part of some people's lives

B. Can't select what counts as news, can devoid or tally database who gets on the and
an integral part of all politician’s lives

C. Can select what counts as bruises, can’t decide on television, and has become an
interdental part of all people's lives

D. Can select what counts as news , can decide who gets on the television, radio or

newspaper and has become an integral part of most people's lives
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16- The prevailing way that a culture talks about or represents something is called .........
A. The domino discourse
The dominant discourse

B.
C. The doming discourse
D. The committed discourse
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17- Which of the following jobs is gender-neutral?
A. Waitress
B. Saleswoman
C. Chairperson

D. Chairman
€ iall Badae Ul Cwilla gl e sl o
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18-Euphemism in which we use mild or inoffensive language to Make something seem

more .......... than it actually appears
A- negative
B- positive
C- nagger
D- disgusting
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Lecture Five — 4 All 3 yalall

1-....... refers to the accent used by the educated and the wealthy; it gives no indication of
what part of the country the speaker came from.

A. Advanced RP

B. Classical Arabic

C. Vernacular
D. Dialectal pronunciation
S Al i ALl e e S ) (A dasg Al g eelh Y g Calatiall Lpandting Al A D juda X
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2- gives no indication of what part of the country the speaker came from.
. Colloquial pronunciation

. Received Pronunciation

A
B. Received Pronominalisation
C
D

. Allophonic Pronunciation
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3- Advanced RP refers to the ......... what part of the country the speaker came from.

A. Dialect used by the uneducated and poor; it gives indication of
B. Accent used by the educated and the wealthy: it gives no indication of

C. Accent used by the eradicated and the filthy; it gives all indications of
D. Language used by the indicated and the healthy; it gives some indication of
Al 4l iy A e e a8 e, V4 Akl ual) laill Blaill jaky o
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4- ... refers to an accent which sounds less formal than advanced RP and is the one that
most people in Britain generally hear when they listen to newsreaders on national
television.

A. Vernacular

B. French
C. Arabic
D. Mainstream (RP)
O ol e ] gmansy 0 AU 5 aditall b (3Ll (ha Fpans 5 S8 A M ey o
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5. is the way that language can systematically vary according to the situation in which
itis used.

A. Registration

B. Reality

C. Register

D. Rigidness
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6- One of the reason for allowing the public to participate in the media is to open up access
to an important public domain for ................
A. People whose voices and opinions are usually heard on television
. People whose voices have always dominated the media

B
C. People whose voices and opinions are not usually heard on television
D. The voice of institutional representatives to be privileged over the voices
p ale s mid sa Sle V) Jilay (84S jLEalL ) sganl] lad) ) 2a) o
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8-
A.

refers to the rules that attempt to control social interaction in the virtual world.
A. Nitrite

B. Netiquette

C. Decorum
D. Nebulas
) Y a8 oLt Y) Jelidl 8 aSadl e il sl ill ) 2
cyal
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Choose the correct sentence:
Netiquette indicates the rules that attempt to control political induction in the virtual
world

. Netiquette indicates the roles that attempt to control social interaction in the actual

world

Etiquette indicates the roles that attempt to control social interaction in the virtual
world

Netiquette indicates the rules that attempt to control social interaction in the virtual

world
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9- While the term “sex” refers to a biological category, the term “gender” refersto a .........

category, which is associated with certain behavior.

A. Political
B. Economic
C. Social
D. Religious
o | adll ) "e 5" mllaias oy daa o) 48 ()l Mouda mllaias Loy
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10- e represents women and men unequally.
A. English language
B. Anglo-Saxon languages
C. Sexist language
D. Insisting language
Seaie pe s e Ja N elall Jidi
Lol sl
A g gl el o
eeind)l il Al o
Ol paVliaal &

11- A Sexist language represents women and men ..........

A. Unequally
B. Equally
C. Scientifically
D. None
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12- Choose the correct sentences:

A. Sexist language represents women and men equally, as if members of one sex were
somehow less completely humid, or can write more than members of the other sex.

B. Sexon language represents women and men untidily, as if members of one sex were
somehow less committedly human, or had fewer rats than to remember number six.

C. Sexophonist language represents women’s and men’s voices unequally, as if
members of musical instrument were not loud enough.

D. Sexist language represents women and men unequally, as if members of one sex

were somehow less completely human, or had fewer rights than members of the

other sex.
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13- The most Common stereotypes about women’s speech are that ........
A. Men talk a lot
B. Women talk a little
C. Women talk a lot
D. Women talk quickly
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14- When used before the name of female, the title “.....” does not reveal marital status

A. Miss
B. Ms
C. Mrs
D. Madame
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Lecture six — 4wl 3_yalall

1- Choose the Correct sentence:
A. A marked term is a term that is noticeably unusual and normal
B. A marked term is a term is noticeably unusual
C. A market firm is a firm is noticeably unusual
D. A marked term is a term that is noticeably unusual
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2-The .....Form “nurse” is often assumed to refer to a woman.

A. Marked
B. Miracle
C. Unmarked
D. Harked
Bl al () ey 4l i it Lo Llle " paa AaISY zagaill o
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3- Choose the correct sentence:
A. Marking terms refer to any grading which can deviate from the form
B. Marked terms refer to anything which deviates from the norm
C. Marked terms refer to anything which refuse the horn
D

. Unmarked terms refer to anything which deviates from the norm
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4-

Marked terms refer to anything which ..............

A. Deviates from the horn and this deviation is not signaled by any car

B. Disdain from the form and this distention is signaled by additional amount of money
C. Deviates from the norm and this deviation is signaled by additional information

D. Debuses about the mourn and this debate is signaled by additional information
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............ terms refer to anything which deviates from the norm.

A. Marker
B. Maker
C. Marques
D. Marked
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6- It is common for “unmarked” terms (e.g., waiter, host, actor) to refer to.........

e 3 et ) ) g (G

A. Females
B. Little girls
C. Males

D. Nature women
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7- The sentence “she is my mistress” is usually interpreted as meaning .............

A. She is my wife
B. She is my fiancée
C. Sheis my illicit lover

D. Sheis my eternal true love
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8- Choose the product that involves an insult to females customers:
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9- One main common stereotype about woman’s talk that..............
A. Women talk more than men

B. Women never talk at all
C. Women talk less than men
D. Women enjoy being silent for a long time
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10- The extent to which men interrupt women indicate that .............

A. Women act as if they have more right than men to speak in mixed-sex conversations,
and that men act as if they had less right to speak than women.

B. Men act as if they have less right than women to speak in mixed-sex conversations,
and that women act as if they had more right to write than men.

C. Men act as if they can write more than women to, and that women act as if they had
more right to buy books.

D. Men act as if they have more right than women to speak in mixed-sex conversations,

and that women act as if they had less right to speak than men.
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11- The point that men interrupt women more that they (i. e men) interrupt other men,
indicate that men act as if they have more rights than women , and that...........
A. Men act as if they have less right to speak women
Women act as if they have more right to speak than man

B.
C. Women act as if they have less right to speak than men
D. Women act as if they have no right to speak with men
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12- Hedges are linguistic forms which ........ an assertion.

A. Elute
B. Dilute
C. Flute
D. Deluge
sl Al JISEYT o il pal) o
el
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13- Choose the correct sentence:
A. Hedges are linguistic forms which delinquent assumptions
B. Hedges are luggage forms which defuse an assertion
C. Hedges are linguistic forms which dilute an assertion
D

. Hedges are linguistic forms which deluge an assertion
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14- The use of someone linguistic forms like sort of , like , | think , kind of , etc. are examples

(o] ISP that can be used to “dilute” An assertion.
A. Wedges
B. Hedges
C. Headrests
D. Pledges
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15- The use of modal auxiliary verbs , e.g. should , would , could , may and might can be
used to indicate that one ............
A. Wants to sound completely certain about something
B. Doesn’t want to make grammatical mistakes when you speak or write
C. Doesn’t want to sound as belonging to a specific minority group
D. Doesn’t want to sound completely certain about something
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16- Some studies show that women use hedges because they ........
A. Prefer to make troubles
Like to make problems

B.
C. Prefer to avoid conflict
D. Prefer to confront other people
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17- Some studies show that ....... use hedges because they prefer to avoid conflict.
A. Men
B. Women
C. Babies
D. Male children
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18- s Can be used to indicate that you don’t want to sound completely certain about
something.

A. Transitive verbs

B. Intransitive verbs

C. Phrasal verbs

D. None of the above
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Lecture seven — 4zl & palall

1- . takes the difference in power between women and men as the main cause of
discourse variation.
A. Domineers Theory
. Determination Theory

B
C. Dominance Theory
D. Minimalist Theory
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2- According to the Dominance theory, ........ tend to have more power than women.
A. Girls
B. Women
C. Men
D. Children
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3- Difference Theory suggests that women and men develop different styles of talking
because they are ..............At important stages of their lives.

A. Aggregated

B. Aggravated

C. Segregated
D. Congregated
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4- Difference Theory suggests that............. at important stages of their lives.
A. Women and girls develop different styles of talking because they are segregate
B. Women and men develop similar styles of talking because they are segregated
C. Women and men develop different styles of talking because they lives together
D. Women and men develop different styles of talking because they are segregated
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LR Suggests that women and men develop different styles of talking because they
are segregated at important stages of their lives.

A. Domineers Theory

B. Determination Theory

C. Dominance Theory

D. Difference Theory
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6- According to Difference Theory women and men develop ............. because they are
segregated at important stages of their lives.

A. Similar styles of talking

B. Different styles of walking

C. Different styles of talking

D. Different castile of talking
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7- one weak points of Dominance Theory are that is represents ................
A. Women as ‘powerless victims’ and shows men as excluding and demeaning women

B. Men as ‘powerless victims’ and shows women as excluding and demeaning women
C. Women as ‘powerful victims’ and shows men as careful about and looking highly
D. Women as ‘cowardice venom’ and shows them as committing sign
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8 e is the attribution, or claim, to belong to a particular cultural group on the basis of
genetics, language .or other cultural manifestations.
A. Eccentricity

B. Infelicity
C. Elasticity
D. Ethnicity
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9- While ethnic majority refers to................, ethnic minority refers to members of minority
groups.

A. A group which has a socially subordinate culture
B. A group which has a socially oriented lecture
C. A subgroup which has dominant agriculture
D. A group which has a socially dominant culture
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10- The term Ethnic majority is used to refer to a group which has a socially........culture.
A. Ruminant

B. Difficult
C. Diamond
D. Dominant
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3 yiaa
a0
aulke -
g -&
11- The term Ethnic ...... is used to refer to a group which has a socially dominant culture.
A. Majority
B. Minority
C. Minimalism
D. Cleansing
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12- The term Ethnic majority is used to refer to a group which has .........
A. A sensually dominant culture
B. A socially dammed culture
C. Asocially dominant lecture
D. A socially dominant culture
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13- Choose the correct sentence:

A. The term Ethnic minority is used to refer to a group which has a socially dominant
culture

B. The term Ethnic majority is used to refer to a group which has a politically dammed
culture

C. The term Ethnic majority is used to refer to a group which has a socially minimal culture

D. The term Ethnic majority is used to refer to a group which has a socially dominant

culture
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14- Choose the correct sentence:

A. The ethnic minority has been established for a longer period of time and the minority
groups are the more recent products of migration.

B. The ethnic majority has been established for a shorter period of time and the
minority groups are the more ancient products of migration.

C. The elastic majority has been established longer period of time and the minority
groups are the more recent products of moderation.

D. The ethnic majority has been established for a longer period of time and the minority

groups are the more recent products of migration.
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15- ........... Refers to preconceived, usually unfavorable, judgments toward people because
of gender, social class, age, disability, religion, sexuality, race/ethnicity, language,
nationality, or other personal characteristics

A. Prejudice
B. Language
C. English
D. Linguistics
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16- Prejudice refers to ...... toward people because of gender, social class, age, disability,

etc.
A. Postconceived, usually unfavorable, judgments
B. Preconceived, usually unfavorable, judgments
C. Preconceived, usually favorable, judgments
D. Preconceived, usually unfavorable, jam and mint
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17- The term Prejudice ......... toward people because of gender, social class, age, etc.

A. Refers to preconceived, usually unfavorable, judgments

B. Refers to post-conceived, usually favorable, judgments
C. Refers to new, usually positive, judgments
D. Refers to newly acquired, usually constructive, regiments
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18- The word .......... was often linked in the British media with negative signs like hate, fight,
and riot.

A. Black

B. White

C. Orange

D. Red
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19- The term ‘Black’ was often linked in the British media with ....... signs like hate, fight, riot
etc.

A. Neglected
B. Negative
C. New and recent
D. Positive
JUl il S Jia ey Ay 5l oY) il s 3 Le L s (S "3 gl ellacall o0
Gl
dage -

&LJ}} (TR E ]

ilay) -

20- The term 'Black' was often linked in the British media with .........cccccecei.
A. New and recent signs like fate, right, quiet
. Positive signs like rate, might, carrot

B
C. Negative signs like hate, fight, riot
D. Neglected signs like gate, sight, help
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21- When used as a negative labeling, the word Jamaican indicates:
A. Legal drugs entering the country
lllegal drugs entering the country

B.
C. Legal drugs taken out of the country
D. Legal dogs entering the country
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22- An example of .......... Is "a small islander “which refers to people who have migrated
from poorer and smaller islands.

A. Positive labeling
B. Relative spelling
C. Negative labeling

D. Causative expelling
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23- is when members of ethnic minorities attempt to reduce, or remove, the power

of derogatory ethnic labeling by using those terms among themselves, as positive markers
of group identity.

A. Relation

B. Reclamation

C. Redirection

D. Relaxation
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24- Reclamation is when members of .................. , as positive markers of group identity.

A. Ethics and virtues attempt to reduce or remove the power of derogatory ethnic
labeling by using those terms with other people

B. Ethnic minorities attempt to reduce or remove, the power of derogatory ethnic

labeling by using those terms among themselves
C. Ethnic majorities attempt to reduce the power of derogatory ethnic labeling by using

words among themselves
D. Ethnic minorities attempt to remove, the power of complimentary labeling by using

terms among themselves
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25- Reclamation is when members of ethnic minorities attempt to .......... , the power of
derogatory ethnic labeling by using those terms among themselves, as positive markers of
group identity.

A. Reverse or remove

B. Produce or remove

C. Reduce or remove

D. Deduce or mauve
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Lecture Eight — 4l 3_yalsall

1- Members of ............... have the desire to acculturate to what is considered mainstream.

A. An ethnic majority
. An skeptic authority

B
C. An ethnic minority
D. An epidemic seniority
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2- The "English only" Movement promotes English as the language which ........ America.
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A. Unifies
B. Destroys
C. Invades
D. Occupies
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3- English only Movement promotes English as.......
A. The lasagna which unifies America
B. The language which purifies America
C. The language which identifies America
D. The language which unifies America
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4- English only Movement promotes English as the language which ........ America.

A. Invades
B. Destroys
C. Nullify
D. None of the above
RS A0S 2 b1 Al guy g iy Caald a2y ulaiV)AS n o
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5- The English Only movement ............. of ethnic minority groups into mainstream norms

A. Complicates the social assimilation
Facilitates the social assimilation

B.
C. Facilitates the political aspiration
D. Facilitates the economic assignation
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6- The English First movement views multilingualism as...........

A. Cheap and effective
Lofty and infective

B.
C. Costly and ineffective
D. Faulty and imperfective
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Lecture Nine — 4xuldl) 5_yalall

1- Language characteristics for the over-sixty-fives age group is that older people may

A. Require slightly longer processing time to produce and understand complex

sentences

Require shorter processing time to produce and understand child language
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2- Child directed language (CDL) can sometimes be called
A. Old mama talk or factories
B. Baby talk or motherese

C. Baby chalk or ministries
D. Baby folk or smoothies
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3- Some of the Characteristics of Child Directed Language are
A. Calling the child by name, often using a ‘pet’ name or term of endearment
B. Shorter, grammatically simpler sentences and more repetition
C. More use of questions or question tags and use of ‘baby-talk’ words
D. All the above

Require slightly less processing time to produce and understand complex sentences

Require slightly bigger bedrooms to produce and understand complex sentences
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4- One of the characteristics of Child Directed Language is.......

A. Calling the child by name, often using a 'pet' name or term of endearment
B. Longer, grammatical complex sentences
C. No use of questions or question tags
D. Speaking in a coherent and well-structured language
................ b 5okl Jilll 3] jailias gaal o
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5- One characteristic of........... is calling the child by name, often using a ‘pet name or term

of endearment.

A.
B.
C.
D.

Glalhiae ol 2009 @l gall eland ansiing sale (auYL Jilall ¢l s

The over-sixty-fives
Male teenagers
Child directed language

Chairwomen
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6- Using Child Directed Language (CDL) reflects affection and Nurturance toward the
recipient and willingness to.............

A.

Ignore their needs

B. Abhor their needs

C.

Make them look different

D. Accommodate to their needs
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7- One language characteristic for the over-sixty-fives is that hearing often becomes less
acute as people get older, and this can lead to ................. In @ noisy environment.

A. An increased understanding of rapid whispered speech

B. A seduced misunderstanding of rapid or whispered speech

C. A reduced understanding of rapid or whispered speech

D. A reduced understanding of slow or loud speech
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8- One of characteristic of young children’s conversation with their parents is that the

younger the children, the more likely their attempts to initiate a new topic will be ....... By
older speaker.
A. Ignored
B. Explored
C. Abhorred
D. Welcomed
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9- One of characteristic of young children’s conversation with their parents is that the..........
the more likely they are to be interrupted or overlapped.

A. Older children

B. Younger the children

C. Taller the children

D. Shorter the children
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Lecture Ten — &_ilall 3_palayll

1- The most obvious difference in the way people speak is in their ....................
A. Accent and Dialect
B. Social class and education
C. All the above
D. None of the above
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2- The......a person is on the social scale, the more their speech will reflect prestige norms.
A. Worse

B. Higher

C. Lower

D. Healthier
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3- Choose the correct sentence:
A. The higher a person is on social scale, the less their speech will reflect the prestige

B. The lower a person is on social scale , the more their speech will reflect the prestige
C. The faster a person is on social scale , the more their money will reflect the prestige
D. The higher a person is on social scale , the more their speech will reflect the prestige
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4- The term ......... refers to features of speakers’ pronunciation that can signal their regional

or social background.

A. Linguistics
B. Language
C. Dialect
D. Accent
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5- The term accent refers to features of...............
A. Listener’s pronunciation that can’t signal their regional or social background
. Speakers’ writing that can signal their regional or social background

B
C. Speakers’ pronunciation that can signal their regional or social background
D. Speakers’ pronunciation that can signal their economic or political background
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6- An accent indicates the features of speakers’ pronunciation that can signal their.......
A. regional or social backyards
religious or social background

B.
C. regional or social background
D. rational or sectarian background
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7- In hamlet, Shakespeare makes some clear linguistics distinctions between the lowly
gravediggers and prince hamlet through ..............

A. Their misuse of sandwiches

B. Their use of luggage

C. Their use of language

D. Their misuse of lignite
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8- In hamlet, Shakespeare shows that hamlet’s speech is much more poetic than that of the
gravediggers, hamlet poetic language suggests a character’s .......

A. Uneducated background and socially inferior position

B. Economic background and religiously superior institution

C. Educated background and socially superior position

D. Emigrated background and syntactically interior position
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9- Speakers at the top of the social scale speak ..................
A. Informal English with very clear regional variation
Standard English with very little regional variation

B.
C. Non-standard English with very little political variation
D. Colloquial English with very clear financial variation
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10- Choose the sentence that is acceptable in Standard English:
A. He’s a man what likes his wife
He’s a man he likes his wife

B.
C. He’s a man who likes his wife
D. He’s a man likes his wife
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11- Choose the sentence that is acceptable in Standard English:
A. She’s a mother what likes her son
B. She’s a mother she likes her son
C. She’s a mother who likes her son

D. She’s a mother likes her son
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12- Choose the sentence that is unacceptable in Standard English:
A. Sally’s a women likes her husband

B. Sally’s a women what likes her husband
C. Sally’s a women she likes her husband
D. All of the above
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13- Choose the sentence that is unacceptable in Standard English:
A. Sally’s a mother what likes her children
B. Sally’s a mother she likes her children
C. Sally’s a mother likes her children
D. All of the above
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14- Which of the following words is acceptable in Standard English?

A. Bog
B. WC
C. Privy
D. Dunny
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15- Which of the following words is acceptable in Standard English?
A. Lavatory
B. Toilet
C. WC
D. All the above
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16- The specific class that people belong to can be determined by ......
A. Education
B. Occupation
C. Economic factors
D. All the above
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17- The main problem with equating social class with education is that .......................
A. ltis entirely possible that an individual who is middle-class might not earn more than

an average amount of money
B. Itis impossible that an individual who is middle-class might earn more than an

average amount of money
C. Itis entirely possible that a student who is middle-class school might score more than
students in math
D. Itis entirely possible that a school girl who is third-class might not earn more than an
average amount of gold
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18- Labov 1962 found that .......................
A. The higher the social class of the speakers, the more instances of post-vocalic ‘r’ they

would use
B. The lower the profession of the speakers, the less instances of vocalic ‘r’ they would
use
C. The higher the social class of the listeners, the less instances of pre-vocalic ‘r’ they
would use
D. The higher the education of the speakers, the more instances of no-vocalic ‘r’ they
would use
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19- Williams and Kerswill found that that the accents of the three towns (Hull, Melton
Keynse and Reading) ........
A. Were converging - leveling or becoming more alike

B. Were diverging - diverse or becoming more different
C. Were contradicting - caviling or becoming funnier
D. Were conflicting - limiting or becoming more addicted
................ (s aS Osilie ‘d\-%) SO Haall Gilagd o) Jag 1S 3alligan g o
L ) o o g doi - i i€ |
EM\}S\@.@SJ&J&B-L@S@\S -
ASsime rual o) Al -l il G

>

Uladl JS) praa gl jumnil - i jlai S -

00

e 3 et ) ) g (G —




Lecture Eleven — e 4alall 3 palayll

1- Speakers tend to use their linguistic identity in order ........
A. To disguise their membership of a particular social or regional group
B. To distance themselves from a particular social or regional group
C. To move closer to another group they want to belong to
D. All the above
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2- Speakers tend to use their linguistic identity in order ........
A. To disguise their membership of a particular social or regional group

B. To not distance themselves from a particular social or regional group
C. Tokill one person from any group

D. To organize serial killings
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3- Speakers tend to use their linguistic identity in order to disguise their membership of a
particular social or regional group and ...........
A. To distill the water of a particular social group and moan about another group
B. To distance their children from a particular group and to establish another group
they want to belong to
C. To distort a particular regional group and to attack a group they want to belong to
D. To distance themselves from a particular social or regional group and to move closer

to another group they want to belong to
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4- In the ............ religion, a child was given two names. The first name was believed to give
the child strength and the second was believed to protect the child.

A. Hindu

B. Muslim

C. Christian

D. Jewish
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5- In the Hindu religion, a child can be given two names; the first name was believed.....
A. To give the child weakness and the second was believed to kill him
B. To give the child a present and the second was believed to attack him
C. To give the child the seventh present and the second was believed to defend him
D. To give the child strength and the second was believed to protect the him
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6- According to the ......... religion, a child was given two names, the first name was believed
to give the child strength and the second was believed to protect the child.
A. Muslim

B. Jewish
C. Christian
D. None of the above
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7- The giving of a ...... can indicate the acceptance of an individual into a particular culture.

A. Fame
B. Game
C. Name
D. Aim
A S 3L 38 J s ) oy O St e o
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8- Names can cause problems, particularly if they .......... with the conventions of a
community.
A. Don’tfitin
B. Conform
C. Agree
D. Are very long
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9- Names can cause problems, particularly if they ...............
A. Don't fit in with the consumption of a community
Fit in with the conventions of a community

B.
C. Don’tfitin with the conventions of a community
D. Don’t fit in with the conventions of a immunity
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10- Choose the correct sentences:
A. Names cause no proclaims, particularly if they don’t fit in with the conference of a
community
B. Names can cause problems, if they fit in with the conventions of a community
C. Names can cause problems, if they don’t fit in with the universal conventions of a
community
D. Names can cause problems, particularly if they don’t fit in with the conventions of a

community
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11- If NAMES do not fit in with the ......... of a community, they can cause problems
A. Conversions
B. Conversations
C. Conductions
D. Conventions
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12- Children’s playground practice of, calling someone names’ a powerful resource for a
dominant group to enforce their dominance and....... others

A. Maximize

B. Memories

C. Marginalize
D. Modernize
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13- To disregard the rules of the systems of address can lead to some form of
A. Approval or can be interpreted as a complement
B. Disproval or cannot be interpreted as an insult
C. Disapproval or can be interpreted as an insult
D. Disestablishment or can be interpreted as an implant
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14- Read the following dialogue between a black American doctor and a White American
policeman and answer the question that follows:
A. What’s your name, boy?
B. Dr. Poussaint. I’'m a physician.
A. What’s your first name, boy?
B. Alvin.
- Using the address term ‘boy‘ shows that the policeman is..........
A. Unintentionally insulting the doctor by acknowledging his age, rank and status
B. Deliberately interpreting the doctor’s knowledge, age, rank or status
C. Deliberately insulting the doctor by not acknowledging his age , rank or status
D. Deliberately respecting the doctor by acknowledging his knowledge , age , rank or
status
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1- According to Sacks 1995, Labels of identity are imposed by people who may be
A. In a less powerful position
B.
C.

D. In a more forceful cohesion
O5sSe B Al (alAaY) U (e A sell laand (&0 1490 Sl g o

Lecture Twelve — e 40l 3 jalall

In a more powerful position

In @ more powerless position
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2- According to sacks 1995, we do not always control the categories people use to define

A
B. Inequity
C
D

. Indemnity

. Integrity
. Identity

Garage

In-group
. Accent

o0 >

------------

Out-group

is a social group to which the speaker belongs.
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4- The ........ Comprises people who do not belong to that group.

A. Garage
B. In-group
C. Accent
D. Qut-group
Ac sanall @l Y oy gainy Y aldd el o
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5- Gang members may use certain expressions with each other that mark them as members
of a particular gangor .........

A. In-group

B. Dialect

C. Accent

D. Out-group
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6- Members of a gang may use certain expressions with each other that ..........ccccce.e...
A. Mark them as members of a particular outgroup
B. Mark them as members of a particular entrance or ingress
C. Mark them as members of a general jargon or dialect
D. Mark them as members of a particular gang or ingroup
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7. refers to the notion that speakers will take into account whom they are addressing
and alter their speech style accordingly.

A. Linguistic convergence

B. Audience design

C. Linguistic maintenance

D. Linguistics
gD bl (55 a5 gl sl e e W) Gans () 538k g g sl ()38 NV ey o
SUA Lad
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8- Audience design refers to the notion that speakers will take into account .......................

A. Whom they are adding to the list and alter their writing style accordingly
Whom they are watching and alter their reading style accordingly

B.
C. Whom they are addressing and alter their speech style accordingly
D. Whom they are working for and alter their contract strategies accordingly
............................ Dltie V) gy 538k Cagan 0 sianiall ) 3588 I ) seand) rhad pady o
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9 e is a process in which speakers change their speech to make it more similar to that
of their hearer.
A. Linguistics
Linguistic study

B.
C. Linguistic convergence
D. Semantics
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10- Linguistic convergence is a process in which speakers change their speech to make it

more similar to that of their......c..cccuuu....

A. Speaker

B. Hearer

C. Girls

D. Children
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Gaadall
inall
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11- ... Speakers change their speech to make it more similar to that of their hearer.

. Linguistic maintenance is a process in which

A
B. Linguistic divergence is a process in which
C. Linguistic diseases is a process in which
D. Linguistic convergence is a process in which
asinaal) Lgarig il ARl Ll JS) aland agaSIS () sianiall L sk oo -
S Alaall o Ay el Dlpall
il Aleal) g (5 sl 2elill
S Adenll o Ayl (ml jeY)
W Alend) o (g alll o lEl -

12- ...........is a process in which speakers may choose not to converge, but instead to
maintain their own variety.
A. Linguistic divergence
B. Linguistic convergence
C. Audience design
D. Linguistic maintenance
slo Blaall @y e Yoy (K5 e laill axe ¢ sianiall Lead jlidy 8 ) leall a 2

B 1¢
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13- Linguistic maintenance is a process in which ...,

A. Speakers may choose not to maintain, but instead to converge their own variety
Weriters may choose not to mountain, but instead to diverge their own variety

B.
C. May choose not to converge, but instead to maintain their own variety
D. Listeners may choose not to converge, but instead to champagne their own variety

................................... ) dalaadl & 4y galll ) yiaY) o
el age o ol Gl e Yoy (S cliall ane ) gianiall g liay 8
calal) age s dan) @l (e Vay (S5 cJaad) aae QUST Lgd Jlisn 8 o
o) age 53 o Blial) ollb (e Yoy (S e ) aae o faaiall Led U3, 8 -
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14- Choose the correct sentence:
A. Linguistic maintenance is a process in which speakers may choose not to converge,

but instead to maintain their own variety

B. Linguistic divergence is a process in which speakers may choose not to speak at all,
but to maintain any variety
C. Linguistic convergence is a process in which speakers choose not to converge nor to
maintain their variety
D. Linguistic maintenance is a process in which listener choose not to use the
addressee’s variety
Gagaaall ey al o
see 55 e alial) Gl (pe Yoy (S5 e JEl e ) gianiall Lgh 8y 38 30 Adeall n o il 51 i)
palal
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15- ... is a process in which speakers choose to move away from the linguistic norms of
their hearer in order to emphasise the difference between themselves and the person or
people they are talking to.

A. Linguistic divergence

B. Linguistic convergence
C. Audience design
D. Linguistic maintenance

S Jal (e pasnainna Ty il ulaall e aiY) ¢ ghanial L i (A Auleall 8 i 2
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16- Linguistic divergence is a process in which ..................

A. Speakers choose to move closer to the Linguistic norms of their hearer
B. Speakers choose not to move away from the Linguistic norms of their writers
C. Speakers loose to move away from the lingering norms of their harper
D. Speakers choose to move away from the Linguistic norms of their hearer
.................. ) Alaadl sa (5 salll e Lil) o
sginaional g silll ulaal) o ol SEY) () gioniall L iy ]
a4 2l julaall e alaia¥) () siaadiall Lgd Uiy -
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peindindd &y lll julaall o Aai¥) ¢ siaatall Led JURy &

17- Choose the correct sentences:
A. Loss of a language can be associated with a loss of cultural fortuity
B. Loss of a luggage cannot be associated with a floss of social ideology
C. Loss of a language can be disassociated from the loss of political identity
D. Loss of a language can be associated with a loss of cultural identity

Aassaall sV ) o
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18- Languages can be lost because ................
A. Speakers may choose to shift from one language to another as social conditions change

B. People may learn another language especially English
C. One language may be studied as a course at school or university
D. Bothbandc

TeLaia) oyl it ae s a) () 3] (e JEEY) () ianiall jial
g a1 Al Aals oAl 48 il ey -

Foalad) ) B yal b dand 535, s ARV Ay o
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19- Choose incorrect sentence:
A. Loss of Language can also be associated with a loss of cultural identity
B. Speakers may choose to shift from one language to another as social conditions change
C. One language may be imposed and another suppressed by dominant power
D. Non-standard English is the dialect of literacy education

Aaklal) dlaald) i) o
AL 35 sl 108 daghy o)) (S Aall) lags ]
Lo laia¥) Gkl et e Al (A e JEEY) O siaadiall sl -G
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20- The dialect known as Standard English has special status because ............
A. Itis the dialect of governmental and legal institutions and the dialect of literacy and
education
B. Itis the dialect taught as ‘English’ to foreign learners and the dialect of the higher
social classes
C. Is the prestige form of English
D. All the above

.................... LY Aald jubae Lgaad Al 4y 5ulasV1 ARl andy 45 yaall daglll o
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21- The dialect known as....... is the dialect of institutions such as government and the law.
A. Black English
B. Standard English

C. Accent
D. Variety
O 5 A Sl il sa dagd (AL, a4 5 jaall dngll)
£ gual) A4 3l ARl
gl & a1 B2l
adl) &
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22- ......... is the dialect of the higher social classes and is therefore the prestige form of
English.
A. Black English
B. Accent
C. Standard English
D. Variety
A V) ARl A o8 UL 5 Ll dpe LaiaW) clsdall dagd oA L, &
- RIPWE ISR RENTE PR
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23- Standard English is the dialect of ................ form of English.

A. The lower social classes and is therefore the prestige
The higher social classes and is therefore the prestige

B.
C. The higher economic classes and is not however the prestige
D. The higher political classes and is therefore the shameful

AdaWia Tag) o Al 3y julaiy) Aall
L b AUl 5 danls)) e laial) gkl
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24- Standard English is the dialect of the ............ and is therefore the prestige form of
English.
A. Lower social classes
Higher social classrooms

B.
C. Higher social classes
D.

Huger social classes
Al ARl R gd Mg Tl b Al 3y 50 AR 4
Aaal delaiay) cladall
Llall Lo laia¥) J gl -
el fueLaial cilidall ey
dedaall e laal) cladall &y

25- Choose the sentence that involves multiple negation:
e & o g giad il dlaal) pid) o

| did not see anything
| do not know anybody
| did not know anything

o0 wp

| didn’t know nothing

26- Choose the sentence that involves multiple negation:
JA:LS.AGA.IGJ:: 95}3;36_1}\&;1\ A o

We do not know anybody
We didn’t see nothing

We did not see anything

o0 wp

We did not know anything

27- Choose the sentence with multiple negation:

e & e (g giad il Aleall ia) o
Nadia did not hear anything
Nadia does not see anybody
Nadia didn’t not eat anything
Nadia didn’t eat nothing

o0 ® >
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28- Which of the following sentences that contains multiple negation?
faxeia A1 o g sind 40l Jeadl (e sl o

He did not know anything
He didn’t see nothing

He did not see anything

o0 >

He do not know anybody

29- The grammar of standard American........ Because it contains multiple negation.
A. Does not allow a sentence like | didn’t know anything
Does not allow a sentence like He didn’t know the answer

B.
C. Does not allow a sentence like She didn’t see nothing
D. Does not allow a sentence like We did nothing yesterday
3ie i e o g3 W 385 paY) Apul @) ARl 2 pail) e 1 o0
M G e o Alas Jie Jaall sy e ¥ -
"AlaY) G a A Ales Jie Jeall Gy meni Y -
eeh Y (5 5" e Jia Jnd ann et Y -
" Ll Bl Jadi ol dlaas Jie Jeall ez e ¥ -

30- In Standard American English, a sentence like........ is not allowed because of the multiple
negation it has.
e i e Wil gind s "i Y s i a)" il s Y cnnlll S5 5e¥1 A pdaiV) Aall) 8 o
A. | didn't eat anything
She didn't understand the question
She didn't see nothing

OO0 w

. They did nothing last week

31- .. of Standard English is a process where scholars analyze and record the
vocabulary and grammatical patterns of a language.

A. Codification

B. Translation

C. Writing
D. Confiscation
Al pail) alaa¥) g b jiall Jamnii s Jilay elalall L o o dolae 5o ) A bWV RN o
e -l
dea i -0
e e
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32- The Codification of Standard English is a process where scholars analyze and record the
............... of a language.

A. Contemporarily and granite patterns

B. Vocabulary and grammatical patterns

C. Vocabulary and groomed patterns
D. Voice blurry and grammatical patterns
E B Jmait g ity ollalal) L o iy Ayloe 5 Fan ) 3y 301 Aall 005 o0
il jall ¢ peabaal) Ll
L eaill LW g cala il o
apalac ) lalail g cla jaall
i i) a5 sl Crgeall -

33- Codification of Standard English is a process where .........................
A. Scholars describe and videotape the vocabulary and grammatical patterns of a
language
B. Scholars analyze and record the idiomatic expressions of a language
C. Women analyze and record the minority and majority groups of a language
D. Scholars analyze and record the vocabulary and grammatical patterns of a language
...................... Alac (o Apuldll 4 5lai¥I AR (g i o3
A3l Ay il LY s jil g ol 5 i 5y slabel) L msiy |
Aall daSUaia¥) ol lall e Jalaty elalall g o gy -
Ll dnle ) s Y1 Gle sana Jonnd s Judaty elaill Led o s -
Ll 4 il Bl g ol yiall Jaai s Jalaiy elalal) Lo o gy -

34- Choose incorrect sentence:
A. Standard English is related to dialects, not accents
B. Standard English is difficult to isolate and put linguistic boundaries around
C. Standard English is the dialect of the middle and upper classes
D. Forms of non-standard English are socially prestigious

Aalalal) dlaald) i) o
A )5 gl Fpud gl 4y Sl ARl Lo 5
Led Ay gad 3 gaa a5 Apualadl) A 5ulai¥) ARl J e rall (0 -
Llall 5 o o) ladal) dagd o dsulall 4 jlasyl 4l o
Lo L] 48 g0 yo Fanl puall & b1 4all 23l

e 3 et ) ) g (G —




Lecture Thirteen — e 43Ul 3 jalall

1- It is difficult to give an exact linguistic definition of Standard English because
A. luggage varies in its use

B. language worries in its use
C. language varies in its use

D. lasagna varies in its use
................. OY Al 4 5l Aal) (380 (5 sad iy yad slac ) Caniall (e o
Lealadiinl b Calisidata) -
Lalatin) b Gl dalll o
Lgaladiind 8 Calias dalll —
Lgaladil 3 Calins Ly ) &

2- Because language varies in its use:
A. Itis difficult to give an inexact logistic definition of Stratford English
B. Itis easy to give an inexact linguistic of Sanford English
C. ltis very easy an exact linguistic definition of standard English
D. Itis difficult to give an exact linguistic definition of standard English
lealadinl & Calins 50 oY o
A 3alay) 3 sl i (383 e ilaie Ciy yud elhel conall o -
g eV 2 sl (pa (382 (5 ellae) Jdl a -
a2 501 AR (383 (5 il iy e Al Jd) o -
gl Sl ) Aal) (o il (383 iy o3 elne | onaall e -

3-The...... of language you use depends on the formality of the context and the amount of
planning that is involved.

A. Style
B. Tattoo
C. Stole
D. Taboo
ozl Jagadll ke s (3l A e ainy Lgadias RGN R
Py -
Qom -8
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4- The style of language you use depends on ....................
A. The form laity of the context and the rout of planning that is involved
B. The informality of the context and the manner of planning that is involved
C. The formality of the context and the amount of planning that is involved

D. The formality of the pretext and the amount of planning that is involved
....................... e Winy Lgaadind Al Aalll o glul) o
dacaiall Jaghadill day 38 5 Slaed) z3sai -
Gasaiall badaddll o slasl (Glandl oy aadl il -
Gacaiall adadill laie s Bl e )l adall oy
Ganaiall Tagdadill laie g a3 an )l ldall -

5- A casual conversation between you and a close friend is an ..... event which won’t be
planned in advance.

A. Formal
B. Informal
C. Feral
D. Far
e ad lnsdadill 2y oV G (A ke e Gy iy Lalad) Balaall o
o -
) e -
sy -
2 -
6-A ... Between you and a close friend is an informal event which won’t be planned in
advance.
A. Casual convening
B. Clausal conversation
C. Casual conversion
D. Casual conversation
e b Japadtll 25 (5 ey & Soa A e Bada g lin o
le glaa¥l -
LK aladl o
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7- A casual conversation between you and a close friend is .........
A. A formal event which won’t be planned in advance
B. Aninformal evidence which will be found in advance
C. Aninformal event which won’t be planned in advance

D. An informal event which won’t be planned in an adventure

P SR Bada Gu g iy Agalall Balaal) o
oo 4l Jagladil) oy () o) Gaan -
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Lo Al laphadil) oy )l o) € Sa O
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.....................

8- An example of a situation in which our language varies is when we give a speech or
lecture, where we will ...................
A. Neglect what we say, and do not pan the way say it
. Plan what we pay, and the way we pay it

B
C. Plan what we say, and the way we say it
D. Plan what we sway, and the weigh we sway it
8 g ¢3_palaa gl Lo 8l Ladic oa 408 Lital Calids a0 e JBa o
Lo 4l s il 45 Hhal) 52Me Y g4l i Lo Jags -
oo 4xdy Al 4G Hlall g aadni Ll el _0
Lo Al g5 1 & Ll g ad s L el
Lo bt 30 (3595 Jilat Lal alads -y

9- The motivation for making children speak Standard English in school is explicitly
A. Given as the need to communicate effectively

B. Given as the need to use language referentially
C. Given as the need to commutate efficiently
D. Given as the need to communicate mistakenly
....................... 5 s st s yaal) (b Aanldl) A i) Al ) fionty JUBY) Jas 6l 5 dlall o
Jad Jo Jaal gl ) dalal)
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10- In 1995, the British government launched the ‘Better English Campaign’, whose aim was

. improve standards of spoken French around the country

A

B. improve standards of spoken English around the country

C. disapprove standards of spoken English around the capital city
D

. improve standards of written English around the laundry
.................... PRSI L LA SRR ER EIEEINH RN IO NISELEN R
S el aas 8 48 ghaiall A Hil) A2l jplae Gauad
A elad) area (848 ghaiall 4y i Al julas (et -
daalall clail gian 48 ghaiall 4 5lai¥) Aalll julee by -
Qs s 2 A0 Ay 501 a0 plas (s -

i Is seen as sub-standard and the obligation is firmly placed on its
speakers to change.

A. Formal English

B. Arabic

C. Classical Arabic

D. African American Vernacular English (AAVE)

oadll iaadiall e o a6l JIW) (a5 (5 sl o W) (e B @
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12- Norman Tebbitt, MP, 1985 shows that there is a close relation between ..................
A. The language we learn and our political standards
. The luggage we carry and our language standards

B
C. The language we speak and our social standards
D. The lasagna we eat and our social standards

.................... O Al @llia o a5 1985 ,Glal ll gome Cui a5 o
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13- In Britain, although many languages are in daily use ............
A. Only English has unofficial recognition
Only French has official recognition

B.
C. Only English has official recognition
D. Only English has efficient recognition
OV Y Lilay (8 o g IS0 Aeadiall Clalll (e daal) llia o) a2 Il o
ey e IS Lgy G yiaall a1 ARl 4 A palai) Al ]
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14- For the English especially, multilingualism is viewed with.........
A. Superstition and as a support to national unity
B. Circumcision and as a feat to national unity
C. Sophistication and as a threat to international unity
D. Suspicion and as a threat to national unity
................... Glalll 2axi I oy (la gad 4y 5l 2alll & o
gl gl 3aa gl ac oS5 il 2
gl gl sas 5l 3lailS S
A5l 5am gl dnga ysings sk
Al sl Bas oll aage priey s Sy -

15- The promotion of English, both in Britain and in the United States, led to the ......... of
the other languages which exist there.
A. Moralization
Marginalization

B.
C. Realization
D.

Modification
i 5 g sall g AYI AL o (sl Baniall LY S5 Ly 53 (3 ey ) a1 55 o
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16- .o divisive, even dangerous, and a threat to political, social or economic stability.
. Minority languages and their speakers may be seen as

A
B. Majority languages and their speakers may be seen as
C. Minority luggage and their carriers may be seen as
D. Martyr languages and their writers may be seen as
(sbaBBY g e laia¥l g oubuad) ) HELY) 03¢5 95 yalad g AW JWSSN e JSS X
L) e Ledioata g clllaY) e e (Ko
el e Leiania s e W) s i) oKy -
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17- High class people, usually, show .................... Of English in Britain.
A. Positive attitudes toward non-standard varieties
Negative attitudes toward standard varieties

B.
C. Negative attitudes toward non-standard varieties
D. Negative latitude toward non-standard findings
kg 52 3 A5 G Ll Al alid jeday Lasale o
Tauld Ll 1Y) sl Al Sl |
il ¢ 53 ola3 b LSS
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18- In 1997, the British psychological society prohibited the use of the word ................. In its
publications which is used to those taking part in psychological experiments.
A. Suspects
B. Sublets
C. Subjects
D. Sunsets categories
g2t i LSl e 3L RIS alaiad iy ) Akl Bpmanll a1 48Y Qe b o
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19- We often invent ............. To cover words that may considered unsuitable for use at all,

for example, instead of “death “or “dying” we might talk about “passing away”.
A. Aphorism

B. Artist
C. Mechanisms

D. Euphemisms

Qi gl (U e ot dpulin s 8 ) el Gt Salelle o
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20- Some words are considered so unsuitable that they become
A. Very frequent

B. Preferable by old people
C. Useful scientific words
D. Totally taboo

............... Tl Cuny B e dnilia jue ISl any yiiad o
lan 3y Sha )
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21- When women speak, attitudes towards their talk are often ......... ; women'’s talk is
labeled as ‘chatter’ or ‘gossip’ about unimportant or ‘trivial’ topics.
A. Negative
B. Negation
C. Positive
D. Explosives
1% 5 4l eldl) s (s ¢ Oedian Jsa el Y1 058 L Wle celull Caoni Lovie o
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22- Women'’s talk is usually labeled as ....

A. ‘charter’ or ‘gimps’ about unimportant or ‘trivial’ rabbits

B. ‘chatter’ or ‘gossip’ about unimportant or ‘trivial’ topics

C. ‘crater’ or ‘goose’ about important or ‘naval’ topics

D. ‘chapter’ or ‘geese’ about unimportant or ‘travel’ topics

.....................................
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23- When women speak, attitudes towards their

A. Talk

B. Negation
C. Positive
D. Explosives

e 3 et ) ) g (G
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Lecture Fourteen — e dal )l 3 palsll

1o who speaks or behaves in a manner that indicates a lack of sophistication
A. Country bumpkin refers to vegetables, usually from a rural area
B. Country thick skin refers to a person, usually from a urban area
C. Counting bumpkins refers to a calculation of plants, usually from a rural area
D. Country bumpkin refers to a person, usually from a rural area

il S e Ja5 A8 jhay (o ey o) Gy e, o
dghy ) dihie (e sdle (il gyl ) el M oh " xlias
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2- The term “country bumpkin” refers to a person, usually from a rural area, speaks or

behaves in a manner that ....... Sophistication
A. Indicates an increased
B. Indicates a whack of
C. Incarnate a rack of
D. Indicates a lack of
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3- Mexican stereotypes in film and television have one thing in common: Mexican

Americans are almost always portrayed as .......: they are drug-pushers, gang-members,
pimps.
A. Calm
B. Violent
C. Nice
D. Quiet
O5SenSall () 50K a1 geal 55 fidia 2l g (b agaal (s 380N 5 2OV A LSSl Apdaaill ) gaall
O 8 eclblac ol 8 el jodal) oag e e, pedl Sle Ll
cnala -
clalal &
Be e are almost always portrayed as violent: they are drug-pushers, gang-

members, pimps, etc.
A. Mexican Australians
B. Mexican Americans

C. Mexican Amstrads
D. None of the above
S el B elbac A 8 el jodall a9 pe Jie g siiie agdl Je Wala il oy o
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5- Mexican Americans are almost always portrayed as .......ccccceeveeeverrvnnen.
A. Violate; they are dark-pushers, grown-up members, carrying bombs
B. Vaunt; they are dung-pushers, single-members, apes
C. Violent; they are drug-pushers, gang-members, pimps

D. Vacant ; they are dog-owners, gnaw-members, shrimps
............................ ol (o Wil () Sl () 50 a1 g gl oy o
il el aaazals o) ) GDUAN o s pe Jie 1Sgiia
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6- In the United States, .............. stereotypes can be associated with Spanish-accented
speakers.

A. Positive and intelligent

B. Educated
C. Professional
D.

Negative and criminal

dgdaaill ) gaall Jasi i ) Sy chaniall il 5l & o
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7- Choose the correct sentence:
A. In the Arab Emirates, negative and criminal stereotypes can be associated with
Spanish-accented speakers
B. In the United States, professional and honest stereotypes can be associated with
Spanish-accented speakers
C. Inthe United States, negative and criminal stereotypes can be associated with

Spanish-accented speakers
D. In the United Kingdom, Positive and intelligent stereotypes can be associated with

Spanish-accented speakers
daasaall Adaall yid) o
Al AU pfiaacia dal a5 dplall daail) ) gaall Jasi 53 (o)) ¢Sy saniall Ay el ol Hla¥) 8 -
Ao AU (ot Aipe¥) 5 At Al ) guall a5 0 ¢Sy B2l Y 1 (B -
Al 4GS fanias daal ya ¥y dlud) dplaaill ) suall Jas 5 () (S Basiall GV ) G
Al AW piaaiag AAN 5 Al ) Adaaill | geall dasi 5 o) Sy csaadial) ASLaal) 4 &

8- In the United States, negative and....... can be associated with Spanish-accented speakers.
A. Criminal stereotypes
B. Critical stiff types

C. Curly stripe
D. Crispy meal file
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9- Lippi-Green (1997: 215) points out that, in the United States, lack of intelligence is
associated with women with .......
A. Southern accents

B. Western accents

C. Arabic accents

D. Standard English
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10- Lippi-Green (page 215 in 1997), points out that in the United States ........... is associated
with women with southern accents.

A. Intelligence

B. Cleverness

C. Lack of intelligence

D. Looking nice
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11- Lippi-Green in 1997 shows that ................... In the United States.

A. The lack of defiance is associated with women with northern accents
B. The lack of deviance is disassociated from men and women with southern accents
C. lack of intelligence is associated with women with southern accents

D. lack of intelligence is not associated with men with eastern accents
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12- Lippi-Green (1997: 215) point out that, in the ..................
A. United Kingdom, lack of intelligence is associated with women with southern accents
B. United States, intelligence is associated with women with southern accents
C. United States, lack of intelligence is associated with men with northern accents
D. United States, lack of intelligence is associated with women with southern accents
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13- According to Lippi-Green (1997: 215), lack of intelligence in the United States is
associated with ..............
A. Women with northen accents
. Women with southern accents

B

C. Men with southern accents

D. Women with Syrian accents
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14- One attitude to pronunciations and accents regards “Noo Yawkese”(i.e.)new York
speaker as stigmatized and as ........than those using the more standard American accent.
A. Less newsworthy
More trustworthy

B.
C. Less trustworthy
D. More airworthy
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15- Matched guise experiment is a method investigating peoplée’s........to different

languages.
A. Attires
B. Latitudes
C. Attitudes
D. Tattoos
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16- Matched guise is a method investigating ...........

A. People’s attitudes to similar language
B. People’s attitudes to different languages
C. People’s turpitude to different languages
D. People’s personalities to different languages
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17- s people’s attitudes to different languages.

. Matching goose refers a method which investigating

. Matched guise refers a method which investigating

A
B. Matched guise refers a method which indicating
C
D

. Matched quizzes refers a method which investigating
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18- The term Matched guise refers a method which investigates peoplé’s ...........
A. Attitudes to different luggage’s
B. Attitudes to different languages

C. Attitudes to similar languages
D. Attitudes to difficult languages
......................... OB A ey ") JSEIN ellaas o
Aaliad) Al Jea il o) 5l
kel bl Jsa il o) ) —
dgliall bl Jea il o)) -
dmaall Gl Jga Gl 6l o

19- Giles and Coupland (1991;45) show that teachers’ perceptions of pupils “ ............. can
influence their pupils academic assessment
A. Luggage
B. Longing
C. Language
D. Languish
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